" Inany organisation, the mostimportant aspect s profit
and loss calculation of any transaction conducted. So
the profit/loss calculation is having a very important
impact from business point of view.

While dealing with the profit/ioss calculation, the
following terminologies have to be understood.

Terminalogies in Profit & Loss

Cost price: Cost Price (CP) of an article is the
expenditure incurred on the purchase or the
production of the article. It can be taken as the
‘INVESTMENT’ on the article.

Selling price: Selling price of an article is the
revenue generated by selling that particular article.
So it is the ‘REVENUE".

Both CP & SP are respective quantities. They are
not-absolute-guantities-i.e.the value keeps on

Mark up: This is the increment on the cost price
belore the article is sold to the customer.

From these terminologies it has to be understooc
that the relation of selling price and cost price i
nothing but a percentage increment or decremen &3
situation based on profit or loss respectively. So
profit or loss is P% we can use the multiplying factc

i (1+_E-)
L1 100

So SP = CP(Ti%) vS{

Now let us understand it with the help of som
examples.

Example 1.
Ram bought a scooter for Rs. 10000 and sold itfc
20% loss to Rahul. Rahul invested Rs. 500 in

changing with respect to the person.

If A is selling a quantity to B. In that casc selling
price for A is the cost price for B.

Profit/Loss: The difference of SP & CP is the profit
value or loss value. If SP > CP, the valug is profit. If
SP < CP, the value is loss.

Percent Profit/Loss: The profit or loss as a
percentage of the INVESTMENT is profit or loss
percentage.

Profit/Loss Value 9

Investment
Margin: Margin is generally used in terms of

percentage. It is the profitor loss as percentage of

the ‘REVENUE’ or selling price.

Profit/Loss value
Revenue

% Profit/loss = 100

% Margin = %100
Marked Price: It is the price of the product being
displayed on the label. Generally it is taken as MRP.

Discount: Discount is the rebate given to the
customer before the selling of the article. Generally
discount is given on marked price butto have a loss
the discount can be given on the cost price as well.

and sold at T0% profitto Soharn- Findout thean |uU’E)
paid by Sohan.

Solution.
The CP for Rahul
2l o~
= 10000( w—i(-)--) ot
k 100,
= Rs. 8000

Net investment of Rahul on the scooter
= 8000 + 500 = Rs. 8500

Rahul sold it for 10% profit

So amount paid by Sohan

= 8500 1+-JQ— = Rs. 9350
100

Example 2.
Komal sold two articles at same selling price ¢
at 20% profit while another at 20% loss. Find ¢
his net profit or loss percent?

Solution.
Let the SP of one article be x
One article is sold at 20% profit so
12x(CP), = x

P

3%



X
(CP), = 15
rly 0.8 x (CP), = x
X
(CP), = 6"8‘
X N x 2x
CP=12"08 096
2x
S — X
0.96
_ 2x(0.04)/096
2x/0.96
= 4% loss

‘Rose bought a bullock and a cart in rupees 6000.
She sold bullock, at 20% profit and cart at 10%
rofit and got Rs. 7000. Find out the cost price of
Jliock.

; the CP of bullock be ‘b’ & of cart be ‘¢’
hen b+ ¢ = 6000
and 1.2b+ 1.1c = 7000
By solving both the equation we get

b = 4000 and ¢ = 2000
So CP of bullock is Rs. 4000.

Example 4.

A shopkeeper gives a discount of 10% on a article
but his net profit becomes 8% still. Find out by
what percent he mark up the article.

§o|ution.
. Letthe CP ke x & the mark up be P%

8
Then SP = (Hm)x (As per the profit)

P
SP = (1+-~)x(1~—£) As per markup

(Since mark up & discounts are successive percent
changes on CP)

P
SO | 1+——109x =
( 100}0.9;( 1.08x

(1+—-P~ =19
100)

= P:QO%

4

alse Weight

Sometimes the shopkeeper keeps the CP & SP of
the articles same. But instead of giving us the

indicated quantity he supplies less quantity &
makes profit. So for the calculation of profit
percentage we have 1o see his investment & the
investment is the quantity he is providing to the
customer. So profit or loss percent is calculated on
the amount being supplied to the customer.

Example 1.
A shopkeeper sells the quantity in the same price
rate for which he has bouéht. But he gives 20%
less quantity to the customer. Find his profit percent.

Solution.
Let the indicated weight be 100 gm & CP & SP be
1 Rs./gm
Now quantity given to the customer
=(1-0.2) x 100
So investment of shopkeeper
=80 x 1=Rs. 80
The amount gained from the customer
=100 x 1 = Rs. 100

100-80

Profit % = x100 = 25% profit

Example 2.

Ramesh purchased aradioset at Rs. 1500 and sold it at
Rs. 1200. Find loss incurred by him?

Loss= C.P. - SP
= 1500 - 1200 = 300.
Also in this case we can calculate

300 %100 = 20%
500

Loss% =

Thus he incurred 20% loss.

Basic Formulae
1. When SP and Gain% are Given then

CP:(-—~1~O~Q—7-)XSP
100 + Gain%

~ 2. Whenthe C.P. and Gain % are given then

100 +Gain%
N 100

SP. x CP.

3. When C.P. and loss% are given then

B 100 ~Loss% "
- 100

SP CP.



When S.P. and loss percentages are given

CP = (WJQ-Q-W) x 100
100 ~Loss%

If the cost price (C.P.) of m articles is equal to selling
price of n article, then

% gain or loss :[m"”}moo

If m>n,itis % gain and if m<n, it is % loss

When two different articles are sold at the same G.F,
getting gain/loss of x% on the first and gain/loss of
y% on the second, the overall % gain or % loss in
the transaction is given by

[( 100(x+y) + 2xy J%

100+ x)+(100+y

The above expression represent overall gain
or loss according to its given (+)ve or
(—ve).

When two different articles are sold at the same
selling price getting gain of x% on the first and loss
of x% on the second, then the overall % loss in the

\2

True measure  100+g
Faulty measure 100+ x

1000 1000xg

950 950
So, 100 + g = 199—3—5%@, g= 5-%%.
apon
Discount

9. Iftwo successive discount of an article are m% &
n% respectively, then a single discount equiva

. . . mn’
to the successive discount will be (m +1N ~%

It can also be calculated as

1001005 190=m) _ (100-n) )
100 100

Qoo

Ex.1 Findthe single discount which is equivalent:
successive discounts of 50% and 40%.
Sol.:  Single discount will be equal to

[
transaction is given by L1OJ %

A merchant uses faulty measure and sells his goods
at gain/loss of x%. The overall % gain or loss (g) is
given by

100+g g_ True measure

100+x  Faulty measure

Note: If merchant sells his goods at cost price then
x = 0.

Example 1.

A dishonest shopkesper professes tc sell his goods
at the cost price bu? uses faulty measure. His 1 kg
weight measures 950 gms only. Find his gain percent.

Solution:

Here, True measure = 1000 gms

False measure = 950 gms

Since the Shopkeeper sells the goods at cost price.
x =0,
overall gain % is given by

(m+n mn\%
\ 100 )
50x40
= 40~ %
= (50+ 0 100 )/
= 70%

Ex.2 Find asingle discountwhich is equivalenttoth
successive discounts of 20%, 30% and 20¢
Sol.:  Single discount equivalent to 20% and 30%
20x30
} %

100

= [20+30—

= 44%
Now, we will find single discount whict
equivalent to two successive discounts of 4

and 20%.
o [a4400- 24200,
L OO
= 552%
Alternative:

xx0.8x x7x x 8=0.448x
So the final value is 0.448x

WA N b e e ) A s B DO/
vYiHCH IS reguced Uy NI /o

nju]nin



Solved Examples

elling awatch for Rs. 495, a shopkeeper incurs
s of 10%. Find the cost price of the watch for

hopkeeper.

) Rs. 545 (b) Rs. 550
) Rs. 555 (d) None of these
. (b)
8P =495
= 10%
SP
P, = o x 100
i (100 -Loss%)

shopkeeper sold goods for Rs. 2400 and made a
ofitof 25% in the process. Find his profit percent
he had sold his goods for Rs. 2040.

) 6.25% (b) 7%

(c) 6.20% (d) 65%

Ans. (a)
SP = 2400, Profit% = 25
SP 2400

CP.= 2 100 =
[00+p%) < ' = 725

x100 = 1920
If sold at 2040, profit = Rs. 120

120
Profit % = ——x 100 = 6.2
1= Tagp ¥ 10 =020

A digital diary is sold for Rs. 935 at a profit of 10%.
What would have been the actual profitor loss on it,
if it had been sold for Rs. 8107

(@) Rs. 45 (b) Rs. 40
(c) Rs. 48 (d) Rs. 50
Ans, (b)

SP = 935, Profit %= 10%

935
CP=2 400 =
775 X100 = 850

Diary if sold at 810, Loss = Rs. 40

A shopkeeper bought 240 chocolates at Rs. 9 per
dozen. If he sold all of them at Rs. 1 each, what
was his profit percent?

(a) 66(1/6)% (b) 33(1/3)%

(©) 24% (d) 27%

Ans. (b)
CP of 12 chocolate = Rs. 9

CP of 1 chocolate = 1—95 =Rs. 0.75

Now SP = Rs. 1 Proift = Rs. 0.25

0.95 1
Profit % = ~=2x 100 = 33— %
rofit% = 5775 3

. A coal merchant makes a profit of 20% by selling

coal at Rs. 25 per quintal. If he sells the coal at Rs.
22.50 per quintal, what is his profit percent on the
whole investment?

(@) 6% (b) 6.66%

(c) 7.5% (d) 8%

Ans. (d)

Profit % = 20%, SP=25

CP =~2£—><1OO=1—2~5—RS.=20.83
120 6

Profit if SP = 22.50
= 22.50 - 20.83 = 1.667
1.667
20.83
[in fractional term this can be solved very easily]

Profit % = x 100 = 8%

. The cost price of a shirt and trouser is Rs. 371. If

the shirt costs 12% more than the trousers, find the
cost price of the trouser.

(a) Rs. 125 (b) Rs. 150
(c) Rs. 175 (d) Rs. 200
Ans. (c) '
Let CP of trouser be Rs. x

112x

irt = Rs.
Now CP of shirt 100

. . . 112x
According to given condition x + 76261 =371,

—Zﬁx:871,
100

x=Rs. 175

. The marked price of a table is Rs. 1200, which is

20% above the cost price. Itis sold at a discount of
10% on the marked price. Find the profit percent.

(a) 10% (b) 8%
©) 7.5% (d) 6%
Ans. (b)
MP = 1200

1200

CP. = ——x100=1000
120




discount of 10% on the marked price of goods in
his shop. However, he still makes a gross profit of
17% on the cost price. Find the profit percent he
would have made on the selling price had he sold

+ |
at the marked price.

If sold at 10% discount (a) 23.07 (b) 30%
90 (c) 21.21% (d) 25%
Profit on CP = Rs. 80 Let the cost price be Rs. x and marked price be Rs. y
80 10 17
Profit % = x 100 = 8% Given, y—yX——=x+ XX —
rofit % 1000 v % yX1OO b YX1OO
8. A dozen pairs of gloves quoted at Rs. 80 are N yxft)p_ = xxﬁﬁ y = ll?x
available at a discount of 10%. Find how many pairs 100 100 90
of golves can be bought for Rs. 247 y—x=ly
(a) 4 (b) 5 90
() 6 (d) 8 Required profit percent
Ans. (a) _Y=x 27 apo
12 pairs of gloves are available at Rs. 80 (with 10% Tx x100= a0 x 100 =30%
discount) SOX%z Rs.72 11. The cost of production of a cordless phon:
. , . set in 2002 is Rs. 900, divided betweer
In Rs. 72, 12 pairs are available then in . , .:
material, labour and overheads in the rati
Rs. 1 12 pairs 3 4: 2. If the cordless phone set is marked at¢
72 N price that gives a 20% profit on the component c
10 price accounted for by labour, what is the markeéf '
In 24 RS-?/EX% =4 price of the set?
(@) Rs. 980 (b) Rs. 1080
9. How much percent more than the cost price should (c) Rs. 960 (d) None of these
a shopkeeper mark his goods, so that after allowing Ans. (a)
a discount of 12.5% he should have a gain of 5% on Cost of phone accounted for by labour
his outlay? 4
(@) 9.375 (b) 16.66% = x 900 =Rs.400
RGPS (e DE0 3+4+2
(C) 207 (\Sy e ye
Ans. (c) Component of price accountant for by labour
Letthe cost price be Rs. x and printed price be Rs. 20
=400+ 400x—— =Rs. 480
Y. 100
i ivi i 2 OO .
Hence, price after giving a discount of 12.5% Marked price of the set
_ y_yxlég = 480 + (900 - 400) = Rs. 980
I
195 12. If subsequently in 2003, the cost of material, labot
Given, =y -y X———=x+xX_— and overheads increased by 20%, 30% and 10°
100 100 . , N
respectively, calculate the cost of manufacturing®.
87.5 105 2003
= Y X = XX e ‘
100 100 (a) Rs. 1150 (b) Rs. 1050
' 105 106 175 (c) Rs. 1080 (d) Rs. 1100
LYyE—o—x =YX = X—x= X
87.5 87.5 87.5 Ans. (d)
Required Percentage In 2003, cost of material
y-x 175  nho
=== x100 = o= x100=20% :SOO+SOOX%:RS.360
10. In order to maintain the price line, atrader allows a 30

Cost of labour =400+ 4OOXW =Rs. 520

1
Cost of overhead = 200+ 200x %% =Rs. 220

Hence, cost of manufacturin

= 360 + 520 + 220 = Rs. 1100



ction of 10% in the price of sugar enables a
wife to buy 6.2 kg more for Rs. 279. Find the
price per kilogram.

5 (b) Rs. 4.5

. 4.05 (d) None of these

100 10
279
Original guantity for Rs. 279 = —
10 310
ng ity = 279X — = ——
. New guantity X P
B0, L8,
X X X
X = 3 =5
6.2
9x5

Reduced Price = ST Rs. 4.5 per kg

4. Aman sells an article at 5% above its cost price. If
he had bought it at 5% less than what he paid for it
and sold it for Rs. 2 less, he would have gained
. 10%. Find the cost price of the article.

“(a) Rs. 500

(b) Rs. 360
(d) Rs. 425 (d) Rs. 400
Ans. (d)

Let the cost price of the article = Rs. x
Price when it is bought at 5% less than cost price
5 95
Koo T ey
100 100
Selling price when it is sold for Rs. 2 less.

5 ,_105
100 " 100"

=X—-X

-2

105, 5 % 95 10
100 1007 1007 7100

10 9%
BET T

L 21000
5

=Rs. 400

‘. A.briefcase was sold at a profit of 10%. If its cost
Price was 5% less and it was sold for Rs. 7 more,

the gain would have been 20%. Find the cost price
of the briefcase.

16.

1.

2.

(@) Rs. 175 {b) Rs. 200
(c) Rs. 225 (d) Rs. 160
Ans. (a)

Let the cost price = Rs. x

95
Price 5% less than cost price= ——x

100

Selling price when sold for Rs. 7 more
=lqu+7

100
Given 19, 7 95 9x 20
Vel Jo0 100" 100 100
S I £ e

500

A dishonest dealer professes to sell at cost price
but uses a 900 gram weight instead of a 1 kilogram
weight. Find the percent profit to the dealer.

(8) 10% (b) 11.11%
() 12.5% (d) None of these
Ans. (b)

Let the cost price be Rs. x per kg.

9
Then cost price of 900 gm = 5

Hence % profit

9

X=X
=10 100=19 11119
9 9

X
10

minin]n]

Profit and Loss

L3
L3

I | Practice Exercise: |

Cost of 3 cricket balls = cost of 2 pairs of leg pads.
Costof 3 pairs of leg pads = cost of 2 pairs of gloves.
Cost of 3 pairs of gloves = cost of 2 cricket bats.
If a cricket bat costs Rs. 54, what is the cost of a
cricket ball?
(a) Rs. 12
(c) Rs. 16

(b) Rs. 14
(d) Rs. 18

There would be 10% loss if atoy is sold at Rs. 10.80
per piece. At what price should it be sold to earn a
profit of 20%7

-



(@) Rs. 12 (b) Rs. 12.96 (@) 2forarupees (b) 1forarupees
(c) Rs. 14.40 (d) None of these (c) 4forarupee  (d) 5forarupees
3. If books bought at prices ranging from 11. By selling 45 lemons for Rs. 40, a man loses 20 18
Rs. 200 to Rs. 350 are sold at prices ranging from How many should he sell for Rs. 24 to gain 20% i sr
Rs. 300 to Rs. 425, what is the greatest possible the transaction?
profit that might be made in selling eight books? (a) 16 (b) 18
(a) Rs. 400 ) 20 (d) 22
(b) Rs. 600
(c) Cannot be determined 12. A man gains 10% by selling a certain article fore
(d) None of these certain price. If he sells it at double the price, th< 20 _
4. Ifthe selling price of 18 articles i ltothe C.P. of profit macle is
e s s CR (o o
! Sorgamn percents: (c) 100% (d) 140% |
2 ‘ ‘
(a) 165% gain (b 142 % gain 13. A sells a bicycle to B at a profit of 20% and B selk
it to C at a profit of 25%. If C pays Rs. 1500, wha
?
(c) 162% loss  (d) ‘14»2«% loss did A pay for it ::23
3 7 (@) Rs.825 (b) Rs. 1000 .
, , . (c) Rs. 1100 (d) Rs. 1125
5. Aman sold 250 chairs and had a gain equal to selling
price of 50 chairs. His profit percent is: 14. Itthe manufacturer gains 10%, the wholesale deals.
(a) 5% (b) 10% 15% and the retailer 25%, then the cost of productio: 22 -
(c) 25% (d) 50% of a table, whose retail price is Rs. 1265 is '
6. If I purchased 11 books for Rs. 10 and sold all the (@) Rs.632.50 (b) Rs. 800
pooks at the rate of 10 books for Rs. 11, the profit (c) Rs.814 (d) Rs.834.34
percentis 15. Two mixers and one T.V. cost Rs. 7000, while two T.Vi 22
() 10% (b) 11% and amixer cost Rs. 9800. The value of one T\, is:
(c) 21% (d) 100% (@) Rs.2800 (b) Rs.2100 .
7. Ajay bought 15 kg of dal at the rate of Rs. 14.50 per (c) Rs. 4200 (d) Rs. 8400 |
kg and 10 kg at the rate ,Of Rs. 13 per kg. He mixed 16. A horse and a cow were sold for Rs. 12000 each
the two and sold the mixture at the rate of Rs. 15 o ,
. o A The horse was sold at a loss of 20% and the cow¢
per kg. What was his total gain in this transaction? a gain of 20%. The entire transaction resulted in 24
() Rs. 1.10 (b) Rs. 16.50 ga e ' |
(©) Rs. 11 (d) Rs. 27.50 {@ nolossorno gamn
(b) loss of Rs. 1000
8. Pure ghee costs Rs. 100 per kg. After adulterating (c) gain of Rs. 1000
it with vegetable oil costing Rs. 50 per kg, a (d) gain of Rs. 2000
shopkeeper sells the mixture at the rate of Rs. 96 ' o o
per kg, thereby making a profit of 20%. In what ratio 17. An Article is sold at a certain price. By selling it 625
does he mix the two? 5
(@ 1:2 (b) 3:2 3 of that price one loses 10%. The gain percenté.
(c) 3:1 (d) None of these
original price is
9. Adealer professing to sell his goods at cost price, uses
a 900 gm weight for a kilogram. His gain percent is (@) 20% (b) 331%
@ 9 (b) 10 3 5
] (c) 35% (d) 40%
(c)y 1 (d) 11— ‘ v
9 18. A grocer sells rice at a proﬂt of ‘10% and us&
10. Toffees are bought at the rate of 3 for a rupee. To weights which are 209

The total gain earn



(b) 35%
(d) None of these

d the remainder at a loss of 2%. If the total
as Rs. 400, the value of the consignment (in

20000 (b) 15000
12000 (d) 10000

at 20% gain and the balance at aloss of 5%.
the whole he earns a profit of 10%, the amount
ples sold at loss is:

6 kg (b) 4.6 kg

9.6 kg (d) 11.4kg

C. P.ofanarticleis 40% of the S. P. The percent
at the S,P. is of C.P-is:
(b) 240
(d) 40

N article is sold at 5% gain instead of 5% loss, the
seller gets Rs. 6.72 more. The C.P. of the article is
@) Rs.67.20 (b) Rs. 120

() Rs.134.40 (d) Rs. 240

23. Aman bought an article and sold it at a gain of 5%.

s. I he had bought it at 5% less and sold it for Rs. 1

.. less, he would have made a profit of 10%. The C.P.
of the article was;
- (&) Rs.100

T (e) Rs.200

(b) Rs. 150
(d) Rs. 500

. 24. Raghu bought 4 dozen oranges at Rs. 12 per dozen
~and2dozen oranges at Rs. 16 per dozen. He sold
them all to earn 20% profit. At what price per dozen
did he sell the oranges?

(@ Rs. 14.40 (b) Rs. 16

(c) Rs.16.80 (d) Rs. 19.20

. The profit earned by selling an article for Rs. 900 is
double the loss incurred when the same article is

sold for Rs. 450, At what price should the article be
- S0ld to make 25% profit?

- (a) Rs.600 (b) Rs. 750
{©) Rs. 800 (d) Datainadequate

- Aman sold an article for Rs. 75 and lost something.
Had he sold it for Rs 96, his gain would have been
double the former loss. The C.P of the article is:
(&) Rs. 81 (b) Rs. 82

(¢) Rs.83 (d) Rs.85.50

27. Atableis offered for Rs. 300 with 20% and 10% off.
If in addition, a discount of 5% is offered on cash
payment, then the cash price of the table is:

(a) Rs. 240 (b) Rs.216
(c) Rs.210 {d) Rs.205.20

28. A tradesman marks his goods 30% above the C.P.

1
If he allows a discount of 62%, then his gain

percentis:
3(‘

(a) 281,6 (b) 22%
7

(c) 215% (d) Nore

29. What price should a shopkeeper mark on an article,
costing him Rs. 153, to gain 20% after allowing a
discount of 15%7
(a) Rs. 224
(c) Rs. 184

(b) Rs.216
(d) Rs.162

30. Ifthe S.P. of Rs. 24 results in a 20% discount on list
price, what S.P. would result in a 30% discount on

list price”?
(a) Rs. 27 (b) Rs. 21
{c) Rs. 20 (d) Rs. 9

31. A shopkeeper earns a profit of 12% on selling a
book at 10% discount on the printed price. The ratio
of the cost price to the printed price of the book is:

(a) 50:61 (b) 45:56
(c) 99:125 (d) 55:69
aopn
Solutions
1. Ans. (c)

3G=54%x2=108= G=36,
BP=36x2=72=P=24
3C=24x2=48=C=16

. Cost of a cricket ball=Rs. 16.

2. Ans. (c)
90:10.80 = 120 : *99—”189
e = e O e T Ty
. _120x10.80
90

Hence, S.P. = Rs. 14.40



Ans. (d) Requiredratio =30:20 = 3 : 2. 15
Least C.P. = Rs. (200 x 8)= Rs. 1600.
Greatest SP. = Rs. (425 x 8) = Rs. 3400, 9. Ans.(d)
Required profit = Rs. (3400 ~1600) Gain % = (lg-quo)% ~ 1120
= Rs. 1800. 900 9
Ans. (c) 10. Ans. (a)
Let C.P. of each article be Rs. 1.
C.P. of 18 articles = Rs. 18. C.F. of toffees = fis. 1 ;
S.P. of 18 articles = Rs. 21. S. P. of 8 toffees = 150% of Re 1 = Rs. 7
. '3 2
Gain% =] ——x100|% =16-%. 3 ;
an (18X ) =13 For Rs. 5 , toffees sold = 3 16
Ans. (c) 5
Gain = (S.P. of 250 chairs) - (C.P. of 250 For Rs. 1, toffees sold = (3 X 3) =2,
chairs).
(S.P. of 250 chairs) - (C.P. of 250 chairs) 11.  Ans. (b)
= S.P. of 50 chairs.
S.P. of 200 chairs = C.P. of 250 chairs. Let S.P. of 45 lemons be Rs. x
Let C.P. of each chair be Rs. 1 ‘ .80 _120
C.P. of 200 chairs = Rs. 200. 8040 =120 xor 75= 73
S.P. of 200 chairs = Rs. 250. 40%120
of x=—————— =60
- 50 o o 80
Gaind = 00 < 100 )% = 25%. For Rs. 60, lemons sold = 45
For Rs. 24, 17
Ans. (c)
Suppose, the number of books purchased is 110 lemons sold = (i@x 24) =18.
_rs(29%110 ”
C.P. of 110 books 177 12, Ans. (b)
= Rs. 100 11OA:(100+P>2’C or
110 100+
S.P. of 110 books = RS-(%WO) = P or 100+P = 220
= Rs. 121, Profit % = 21% D =120%.
Ans. (d) i3. Ans. (b)
CPof25kg=Rs. (15 x 1450 + 10 x 13) 125% of 120% of A = 1500
= Rs. 347.50
’ 125 120
S.P.of 25 kg = Rs. (25 x 15) = Rs. 375. = 100 T56A =1500 ;
Gain = Rs. (375 — 347.50) = Rs. 27.50 18
Ans. (b) A= (1500x§) = 1000
Mean price = Rs. lQQx% = Rs. 80/kg
120 ' ' 14. Ans. (b)
By the rule of alligation: 125% of 115% of 110% of p =1265.
C.P. of | kg Ghee Ppomo 125 115 110
' — X — D = 1265
100 100 100 " 100"
Mean Prlce 253
or = 1265
> < P
(1265x 160"
% p=| X2 1 Rs 800




N w

v

P of a mixer be Rs. xand that of a T.V. be

2x +y = 7000 and 2y + x = 9800.
ultiplying 2n equation by 2 and subtracting first
mit, we get

/= 19600 — 7000 =12600 ory = 4200

C. P.ofa T V. = Rs. 4200

Total S.P. = Rs. 24000
C.P ofhorse

ref 199, 12000 )= Rs. 15000,
80
C.P ofacow
100
{399, 12000 |= Rs 10000,
RSl 120 s

Total C.P. = Rs. 25000.
. loss = 24000 - 25000 = Rs. 1000

= Ans. (c)
Let original S.P. be Rs. x,

NewS.P. = %x, loss = 10%

op = (19,2, 2
90 3 27

New, CP. :—zéo—x SP.=Rs.y,

Gaiﬂ:(x—go—x) :—7——{
27 27

. 7x 27
Gain% =| —x -2 % = 35%
(27 20X><1OO}/ 35%.

Ans. (c)
Letus consider a packet of rice marked 1 kg.

Its actual weight is 80% of 1000 gm
=800 gm.

Let C.P. of each gmbeRs. 1.
Then, C. P. of this packet = Rs. 800.
S.P. of this packet = 110% of C.P. of 1 kg.

110
~(1~C—)—6><TOOO) Rs. 1100

. 300
Ga!r}: — o/ __ )
(800 ><1OO)A>—37.5/0

Ans. (b)
Let the total value be Rs. x
2 2x X
—rd === Value of~rd =
Value of 3 3 3

Total S.P. :(105% f—-— +98% of—%)

_(21o.x+@)_ 308x
300 300) 300

308x =400 = 308x - 300x 400
300 300

:M:15ooo

Ans. (c)
Suppose, the quantity sold at a loss be x kg and
let C.P. per kg be Rs. 1

Total C. P. = Rs. 24,
Total S. P. = 120% of (24 - x) + 95% of x.
_ §(24—~x)+1g£= 576 -24x+19x
5 20 20
B 576 ~5x
20
576 -5x
20
576-5x 264
20 10
or 576-5x=528 or 5x=48
o x=96kg

=110% of 24

or

Ans. (a)

CPh.= 40 X SP.ie. SP. = —?C,P.
100 2

- (g—x 100)% of CP.

S.P. = 250% of C.P,

Ans. (a)

Let C.P beRs.x

(105% of x) ~ (95% of x) = 6.72
or 10% of x = 6.72.

Ans. (c)
Let original C.P. be Rs. x/lts

p 105, 20
100 20
New CP:Eixw 19x

100" 20



110_19x _ 209x

_ 10 19x 209 B 251,
New S.P. 15020 " 200 Sp ~[1OOW“Z)A)01:RS.1BO
21x  209x
2k 209y o 2200 375
= | ——x1380|=121.875
20 200 (400 X
24. Ans. (b)
: 21875 7
Total C.P. = Rs. (12 x 4 +16 x 2) = Rs. 80. Profit% = 21.875 = 000 - 215%
S.P. of 8 dozen oranges
29. Ans.(b)
— 1 — 0, .
_Rs 12~Q><80 ~Rs %6, C.P. = Rs. 153, Gain = 20%. Six
00 120 tis
SP.=| —x1b3 |=Rs.183.60 L
S.P. per dozen = Rs. 16 100 or
25, Ans. (b) Let, the marked price be Rs. x The
Let C.P. be Rs. x of &
85 g
900 —x = 2 (x — 450) Jog = 18360
= 3x =1800 = x = 600. - 183.60x100 _
= x=o =216
C.P. = Rs. 600, gain required = 25%. 85
(125 ) 30, Ans. (b
. SP = RS.L ><6OOJ= Rs. 750 30. Ans. (b)
100 {et, the list price be Rs. x Co
Tin
26. Ans. (b) _&}Q_x:24:”:24><100230 e
Let C.P. be Rs. x. 100 80 orin
2lx—75) = (96 - x) Required S.P. = 70% of Rs.30 = Rs. 21
= 3x =246 31. Ans. (b)
=82 Let the C.P. be Rs. 100.
T Then, S.P. = Rs. 112,
27. Ans. (d) Let the printed price be Rs. x
Cost price = 95% of 90% of 80% of Rs. 300. 90 Sas
: Then, 90% of x =112 = ——x =112 -
o O IRt
- a%%x»1%9C_)><78(-%><300}=Rs. 205.20 100
\ , - / x_[ﬂZx?OO\J_HZO
28. Ans. (c) 90 9 Sas
Let C.P. be Rs. 100. Then, marked price 1120 T
= Rs. 130. (CP.): (Printed price) = 100 —=
=000: 1120 = 45 . 56 Sac

-
wiif

fro




